| ZREHOILE-EERHERK L B %
Si2%6H
I #R (fM241~5A)
1 B8 (ARIL) ORERKE (BEH
(1) MERELK W
B 4 R R W
FH2F1~68 | AIFERHLL[EEE (%)| FH251~58 | fiFRGIL| BIRE (%)
B 17,168 -3,510 -17.0 3176 -60 -13.8
(2) ERLEORERE (HH)
2R W
THM2EFE1~58 (AIERHALL|EEE(%)| SH2F1~6A | fiERLALL| R (%)
BASR 1,337 -404 -23.2 34 -16 -32.0
(>BEEHRBAR) 673 -203| -23.2 18 -1 -5.3
BHE)HES 239 -107 -30.9 0 -1 -100.0
L ¥=d 31 -15 -32.6 1 +1 —
el WA & 257 =21 -7.6 1 -1 -50.0
HEESR 2,913 =179 -21.1 52 =21 -28.8
Bam 5L 531 -46 -8.0 15 +3 +25.0
BElhs 884 -282 -24.2 23 +4 +21. 1
43858 108 -36 -25.0 0 -2 -100.0
1SFIRSERR 2 -2 -50.0
e 2,320 -484 -17.3 64 +8 +14.3
a8 ¢ 8, 620 -2,174 -20. 1 192 -33 -14.7
<LEREHBOBEL (REH) >
B e i e e ittt
R R i i B -
+40+4 |-- - - - - ——"="— === ——— - — — | "Z? ———————————————————————————————— -
+20 4 PE- - mmm e e e B e R o -
" 7 o B HZ .
. (5BE=E . . F— kg ) X N )
BAZ W%EA BEEE W = BEEE |#emto5L | EERoLy| HILE FESREEER BElE
OSHxTE 50 ﬁ’?‘)? 7 0 2 73 12 19 56
OfM2E 34 18 0 1 1 52 15 23 64
2 FTEBH (ASBEH OREKRR (HH)
HH2FE1~50 BTERIHALE | 1R 2R (%)
% T 0 =11 -100.0
E & 8 -3 -21.3
B 5 189 -96 -33.7
£ 197 -100 =-33.7




I HETRIOLFERLERR (FF12F1A~5A8)

DHLERILSE

Br & | #E (e an | ma ees | mmmal sy oa| aEmE| penso| srosn| H3IE | A ML |wHin
L) 15 +1 3 3 1
BB 1 -1 0
Finnfr BT 11 =0 1
=) 4 +3 3 1 2
FEEREHT 1 -1 0
FEERT 2[ =0 0
BRRHET 17 -10f 12 3 9
5 AHT 13 +6 6 1 1 3 1 1
5 ith BT 11 -2 3 2 1 1
EEHT 25 -2 15 4 11
=L 10 -8 5 1 1 2 1
FALLIET 0 -2 0
bl 5 -6 2 1 1 1
F+ RHET 11 =0 1 1
#7 H BT 4 -3 1 1 1
#TEAET ) +2 1 1
BRERHET 4 -3 3 3
75 51| Fir BT 1 +1 0
BRI i BT 3 +3 2 1 1 1
7| SERET 11 =0 0
b LT 11 =0 1 1
= AHET 0f =0 0
K [ BT 0 -2 0
L Ui BT 1 +1 1 1
E &HT 2 +1 1 1 1
EEHET 1 -1 3 1 2
iZEHT 2[ =0 2
SR BAHT 0 -1 0
BAR AHT 2 -3 2 1 1
RRFNHET 1 -3 1 1
KERHET 16 +H 11 1 1 1 8
T 3 -8 2 1 1
{EN== A HT 13 +b 1 1 5 1
ERHE 2 -5 1 1
FRAEHT 1 -3 0
RILHET 1 +1 0
(N 0f =0 0
INZHT 0 -2 0
SRAET 3 -1 1 1 1
B o Hi 7 9 +6 6 1 1 1 3
FafT 3 +2 1 1
IR ET 15 -3 1 1 1 2 1 2 1
A& LU ET 12 -6 3 2 1
BAAT 6 +3 4 1 3
Y T 1 -3 0
NIl 1 +b 6 1 1 1 3 1
DESL) 0 -2 0
HimET ) +2 2 1 1 1
Z AR KHET 2 -2 1 1
S EfT 4 -3 3 1 2
fokET 1l *0 3 1 1 2
ZARAKERHET 3 -1 1 1




SHLE RS

LI I LS| PN g EEnR | BREE| 1 (E| BERE| ansy|Rinsn| BEIE | ME |HIDF | wHER
=Ry ET 1 +2 8 1 6 1
= AR ANAT 5 -3 1 1
=SS b SR AT 3 +1 2 1 1
= AR AT 14 +6 8 3 1 4
= MR ET 1 +6 5 1 1 3 1
fEEHT 1 -4 0
FRENET 5 +2 2 2 1
EEidil 10 =2 10 1 1 2 2 5
AFHHET 4 +2 1 1
FNSRET 9 +3 5 2 3
HERITET 2[ =0 0
BRIHAT 4 =0 1 1
AR I BT 1 -5 0
47 A BT 2 -4 0
Y BT 0 -1 0
I BT 0] =0 0
Ly 1 +1 1 1
BRI ET 25 -1 19 5 2 12
BRHET 2 +1 1 1 1
B /N1 BT 7 +5 2 1 1
/NI BT 10 +4 4 2 1 1 1
Loy 0] =0 0
3 4EHET of x0f o
AFHET 11 =0 0
BRFEAT 4 -4 2 2

XifEt £ R ORFLEEIRGHEENHYET

wﬂ?;%jéf:fﬁ.u<f1a'gngfiaigigyﬁ:

ﬁiﬂlﬂsmﬁﬁ BAEMHERRRE: THIEK DS7RI0B L ETOER
RFCHOL  EEERT LA - PREATEL (N[0 ER)ERO—F1C

[E0RERESICURRER | exmLar,

COEBIE, BR-A—ANHLEBEED. BRECIHADRLBFEL I YEHEE R
REBELTHEL. DEELC SEEVRAEY CRYEOC LSS, RECROLTES
ERHROERZERTLOTT, T T .

T E%&mau»ama)m r—
N EEEEOL

i SRR OWERG L

O FREREDIDER=RL

@
]
5



[0)

1

EOEREREER 7A118(+)~208(A) J_\

(EFE R

OFEBZWBH ET DHTEDLZZDEIR

OBinEina FNLREEEHRDMT

mE =
M ETRI3EESKASEROORESY (ff129F41A~5A)
BT & 8 |aERst T ';1,; e BT 4 B [weERmt = gr“; 55

BHET 6 -8 6 B O HHET 0 -2

& B Hr 2 +2 2 FaHET 1 -1 1
F R ET 1 -2 1 R ET 15 =0 15
I ET 4 =0 4 1% LLIET 11 -1 11
FEEREHE 0 -1 BARE 1 -5 1
EEET 0 -3 W ET 1 -5 1
BHKHET 9 -8 9 A LLIET 2 -1 2
S AHT 5 -2 5 A B ET 1 =0 1
gl 3 -4 3 HEERHET 3 -6 2
EHET 2 -8 2 ZRKHET 5 +3 5
e3=) 4 -10 4 EJEi) 1 -1 1
FHUILET 3 +2 3 FRET 1 -4 1
st ET 4 +0 4 ZARKERET 3 +2 3
F+KHET 0 -1 = AR ET 6 -1 6
$r H #T 1 -6 1 = AR AET 3 +3 3
EEEL 0 +0 = AR AT 1 -1 1
BRHTHT 1 +1 1 =Ry T 3 +0 3
7 3 AT 0 +0 = HAET 12 -1 12
BAIFTET 0 +0 REE 6 -3 5
Il $ERET 0 -1 ITRINET 4 -1 4
At L5 BT 2 +1 2 T FHET 1 -3 1
= A HT 0 -1 B FHET 2 +0 2
A FEET 1 +1 1 FRET 6 -1 6
L1 5 BT 0 -1 Y2 RIET 4 -1 3
L &HT 1 -2 1 B ET 2 +2 2
EEET 0 +0 AR I ET 1 -5 1
5E T 3 +2 3 WA ABT 4 -2 3
SRAAET 0 -2 JENET 2 -1 2
BR A AHET 1 -2 1 I S HET 1 +1 1
BRAOET 1 +0 1 FSET 1 +1 1
AEHET 1 -1 1 BeFHET 16 +2 15
FRHET 3 -4 2 EHT 2 +2 1
{152 AR HET 1 -6 1 /1M1 BT 0 -1

ZRHET 2 +0 2 /NI ET 3 +1 3
FHAHET 1 -1 1 B HET 1 +0

RILHET 0 -2 SFPRMET 0 +0

16/ KHET 1 +0 1 AFHET 1 +1 1
INZET 3 +2 3 AT 3 +0 3
FRET 1 +0 1

OfWWEhtEEh ZTEHEFITREEE (BF 71—-2219 H414YVIL1Y)




